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Country

HAISZE

Korea

S8 =M Hlul

Japan

Vietnam

Name of Survey

Korea National Health and
Nutrition Examination Survey

2005

The National Health and Nutrition Survey 2005

National Survey on
Overweight & Obesity

among Viethamese
aged 25-64 years

> 80 years

2005
Sex Male Female Male Female Total

20-24 years 4.5% 1.3% 0.9% 0.0% -
25-29 years 9.8% 2.8% (Prodromal MS 12.1%) | (Prodromal MS 1.4%) 18%
30-34 years 21.6% 6.2% 9.0% 2.2%
35-39 years 23.8% 14.6% (Prodromal MS 15.4%) | (Prodromal MS 3.9%) 8 70
40-44 years 33.6% 18.0% 13.3% 3.1%
45-49 years 36.2% 21.2% (Prodromal MS 23.1%) | (Prodromal MS 4.9%) o~
50-54 years 44.9% 40.3% 23.0% 6.0%
55-59 years 42.1% 52.2% (Prodromal MS 28.0%) | (Prodromal MS 9.1%) _
60-64 years 37.8% 60.8% 29.3% 15.1%
65-69 years 37.9% 59.3% (Prodromal MS 24.7%) | (Prodromal MS 11.7%)
70-74 years 35.6% 58.7%
7579 years 29.7% 19.3% 30.3%

32.1% 67.2% (Prodromal MS 23.9%) | (Prodromal MS 11.8%)
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Country

AL S$20| Ho| =/ HiE

Korea

Japan

7

Vietnam

1. Abdominal
circumference

Male = 90cm
Female = 80cm

Male = 85cm
Female = 90cm

Male > 90cm
Female > 80cm

2. Risk factors

Blood glucose

a. FBS = 100mg/dl, OR
under medication

a. FBS = 100mg/dl, OR
b. HbAlc = 5.2%, OR
c. under medication

FBS = 6.1mmol/L

Blood lipids

a. TG = 150mg/dl,

b. HDL-C < 40mg/dl (M)
HDL-C < 50mg/d! (F)

a. TG =2 150mg/dl, OR
b. HDL-C < 40mg/dl, OR
c. under medication

a. TG = 1.7mmol/L
b. HDL-C < Immol/L (M)
HDL-C < 1.3mmol/L (F)

| Blood pressure

a. SBP =2 130mmHg, OR
DBP =2 85mmHg, OR
under medication

a. SBP =2 130mmHg, OR
b. DBP = 85mmHg, OR
c. under medication

a. SBP =2 130mmHg, OR
b. DBP = 85mmHg

MS
3 risk factors among
5 factorsin 1. and 2.

MS
1. + two risk factors in 2.
Prodromal MS

1. + one risk factor in 2.
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